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Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain Marx’s theory of Separatism.

ekDlZ }kjk izfrikfnr vyxkookn ds fl¼kUr dh O;k[;k dhft,A

2. Evaluate the idea of Chester I. Bernard regarding

leadership and decision making.

usr`Ro rFkk fu.kZ;u ds lEcU/k esa psLVj vkbZ- cukZMZ ds fopkjksa dk

ewY;kadu dhft,A

3. Explain Herberg’s health concept.

gtZcxZ ds }kjk izfrikfnr LokLF; vo/kkj.kk dks le>kb,A

4. What is the relationship between individual and

organization in the view of Chris Argyris ? explain in

detail.

fØl v£xfjl dh n`f"V esa O;fDr vkSj laxBu esa D;k lEcU/k gS \

foLrkj esa le>kb,A
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5. What is the meaning of decision-making propounded

by Herbert Simon ? What are the steps in the decision-

making process.

gcZVZ lkbeu }kjk izfrikfnr fu.kZ;&fuekZ.k dk D;k vFkZ gS \

fu.kZ;&fuekZ.k izfØ;k ds dkSu&dkSu ls pj.k gksrs gSa \

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Explain the nature of state according to Kautilya.

dkSfVY; ds vuqlkj jkT; dh izÏfr dks le>kb,A

2. What is the meaning of ‘Soldiering’ according to

Taylor ? Briefly explain.

Vsyj ds vuqlkj ^lksytfjax* dk D;k vFkZ gS \ la{ksi esa le>kb,A



K–169 ( 4 )

3. According to Max Weber, what is traditional authority

called ? Explain.

eSDl oscj ds vuqlkj ijaijkxr lÙkk fdls dgrs gSa \ le>kb,A

4. Describe in detail Rensis Likert’s management system.

jsfUll fydVZ ds izca/k iz.kkfy;ksa dk foLrkjiwoZd o.kZu dhft,A

5. According to Urwick there is a similarity between Public

Administration and Private Administration ? Explain.

m£od ds vuqlkj yksd iz'kklu vkSj futh iz'kklu esa lekurk

gksrh gS \ le>kb,A

6. What do ‘P’, ‘R’ and ‘B’ stand for in ‘POSDCORB’

proposed by Luther Gulick ? Explain.

ywFkj xqfyd }kjk izfrikfnr ^iksLMdkscZ* ‘POSDCORB’ esa

‘P’, ‘R’ vkSj ‘B’ dk D;k vFkZ gS \ le>kb,A

7. Explain McGregor’s ‘Y’ theory.

eSDxzsxj }kjk izfrikfnr (okbZ) ‘Y’ fl¼kUr dks le>kb,A

8. Briefly explain the contribution of F.W. Riggs in the

field of Comparative Public Administration.

rqyukRed yksd iz'kklu ds {ks= esa ,Q-MCY;w- fjXl ds ;ksxnku

dk la{ksi esa fooj.k nhft,A

**************


